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1. Transform the following sentence into passive voice :
The mason is building the wall.
(a) The wall is built by the mason.
(b) The wall is being built by the mason.
(c) The wall will be built by the mason.
(d) The wall would be built by the mason.
Ans. (b)

ST AT 91T (Active voice) Present Continuous Tense
2l P! Passive Voice I f=Tad g

|Sub +isbeing + V3 +otherwords.|

3 fadwed (b) # A T are a8 SN B
The wall is being built by the mason.

2. Identify the part of speech of the underlined word :
Which trees grow in Egypt?
(a) Relative pronoun
(b) Interrogative pronoun
(c) Interrogative Adjective
(d) Interrogative Adverb
Ans. (¢)

N@ifdhd araater (Parts of speech) ‘which’ T Interroga-
tive Adjective (Tara® fazgmor) 31 faRmor o avg &
ToIaTed fa9wor ff Noun TG Pronouns @ fa2iwar sarar
2l SIS ¥ gmE=ad: I UearEe faviver gid g, i b
What, Which and Whose %I 3% UeATAd SATIY Hgl STl
T, T SIS TART WM U9 g8 & forg fsar s
& SRV

e What book are you reading?

e  Which shirt are you going to buy?

e Whose computer is this?

3.  Transform the following sentence into complex sentence :

Keep quite or you will be punished.
(a) If you do not keep quite, you will be punished.
(b) You will be punished for not keeping quite.

(c) Keep quite and be free from punishment.
(d) You will be punished to keep quite.
Ans. (a)

& T area WY<h arad (Compound Sentence) Bl 9

@ a@g (Complex Sentence) # ¥@ifdhd & & forg

g o el srrfa A Clause BT Principal clause T

el % T Ugell BT Subordinate clause H 98¢ 2d % S-
Compound — He is weak, therefore he cannot walk

Complex — He cannot walk as he is weak.

I W % wu § QU U qrem @ Complex sentence

fa®eu (a) BT

If you do not keep quite, you will be punished.

IR U A AT RN §RT SR IR T5 H 59 U

P R (Deleted) 9 fam w7 B

4.  Which, amongst following, is a correct sentence?
(a) Neither Abdul nor Karim has done his lesson.
(b) Neither Abdul nor Karim have done lesson.
(c) Neither Abdul nor Karim have done their lesson.
(d) Neither Abdul nor Karim has done lesson.

Ans. (a)

e (a) 9 faan T arag SHSH ATHRV & IIAR, Y&
Bl e ® 6 <19 31 1 it Tepae SV either......... or;
neither.......... nor 3@l or A \_rﬁ_@ SiGI % dl Pronoun
AETIAT Uhaed d TANT A S §; S

1. Ram or Hari must lend his book.

2. Either Sita or Gita forgot to take her parasol.

3. Neither Ram nor Shyam has done his lesson.

5.  He said to his friend, ““Work Steadily.”
Change the above sentence into indirect speech by choos-
ing the correct option :
(a) He asked his friend that he should work steadily.

(b) He suggested to his friend that he may work steadily.
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(c) He advised his friend to work steadily.
(d) None of the above.
Ans. (¢)

f&am @7 9’ (Direct Speech) Imperative Sentence B
Indirect Speech H IGo & oIy Reporting Verb &1 Wi &
3R, ‘advised’ Y daold % deIm Inverted commas 1
‘to’ ﬁqﬁﬂﬁﬂiﬂaﬁ%l &H:W(c)ﬂﬁ?ﬁ?%l

He advised his friend to work steadily.

6.  Which of the following is wrongly spelt?
(a) Receive
(c) Believe

Ans. (d)

(b) Perceive

(d) Concieve

o el # 2 fadhed (a) concieve’ B Ial ITYE 2l
3D Y& aul 2 Conceive’ (AR F1, o &1,
A B

7.  Pick up the correct meaning of the word ‘Valiant’.
(a) Cowardly (b) Fearful
(c) Courageous (d) Ignorant

Ans. (¢)

TR “Valiant’ (IR, YRAR, A8, FelR, w1, Ag)
B T 9 “Courageous’ (3141, IR, WTERid, M,
feR) Bl o T v -

Brave, Fearless, Dasing.

8.  ‘Despite’ is synonym of
(a) In spite of
(c) In addition to

Ans. (a)

(b) Instead of
(d) In place of

3 “Despite’ (P qMA9E, & Bl gY ) & Tagardl e
“In spite of” (& @ ESE) Bl o= yaty e B-
Notwithstanding, Even though, Regardless.

9.  Give the correct meaning of the idiomatic phrase ‘to put
up with’.
(a) To experience (b) To tolerate
(c) To ignore (d) To set aside

Ans. (b)

Idiomatic phrase ‘to put up with’ &1 T ¥-To tolerate;
end use someone or something; to abide or endure; endure

without complaint; to accept and unpleasant situation or

person without complaining, T ‘A& BT, TG HRAT|

10. Fill in the blank with correct preposition.

We need to sit finding a solution.

(a) at (b) for
(c) about (d) to
Ans. (¢)

R %I H Preposition ‘about’ & TANT I Bl

Instruction for Question Nos. 11-15 :

Read the following passage carefully and answer the ques-
tions. Choose the correct answer from the alternatives based
on the passage given.

Lucknow bestowed on me one priceless gift. It taught me to
look at the individual rather than his religion or caste or the
tongue he spoke. Naturally, I was aware of the presence of
Hindus, Muslims, Christians, Sikhs, Anglo-Indians, Parsis, even
Jews in Lucknow, and I was dimly aware that occasionally
there was some tension among these communities. However,
for me Muslims meant korma, Parsis meant dhansak, Chris-
tian meant cakes and pastries, Sikhs meant hot halwa, Anglo-
Indian meant mutton cutlets. The only Jewish family in town
did not come within my grasp.

In the Lucknow of the ‘60s, we asked some fundamental ques-
tions with respect to an individual. Was he bore or was he
funny? Could he spin a decent yarn and keep us entertained? A

human being’s worth was measured by the aforesaid prerequi-

sites rather than his father’s name or how and where he prayed.

11. The underlying theme of the passage is
(a) Unity in diversity (b) Conflict
(c) Passivity (d) Indifference

Ans. (a)

QU g uR=T (Passage) H1 fafifad a1 AT (Under-
lying) ﬁﬁmﬂ?\j (Theme) ‘Unity in diversity’ ((Hﬁ—dfﬂ e
TehdT) Bl 3T: fa®eT (a) ‘Unity is diversity’ g1 ST gl

12. The ‘individual’ is recognised by his

(a) Caste (b) Religion
(c) Language (d) Personal Traits
Ans. (d)

SR USH P SURKA S Bl § b g4 AfRh b1 et
AP gH (Religion), ST (Caste) 312@T ST (Tongue) ®
YR R &I ST ARy, UG S ARKT facterord
(Personal traits) P MR R AT AT o1 fdbed (a)

‘Personal traits’ gl ST %I
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13. ‘The only Jewish’ family means
(a) The friendly Jewish family
(b) Single Jewish family
(c) The lonely Jewish family
(d) None of the above

Ans. (b)

g R S & W | 9l S arell et drete
el BEeIl Bl $9G A g, S, T 49 (d, B, I, 7,
), T AR T3 B 3N I qrered i gl QAT asst
& e A Aol S arell eaft (eissd” eafrat dgetr
Bl 3P ST S, % 91 U 9 (U, W, §, ¥, H) 3 Bl
I 14T, AT 9T HhT ‘3iegy” eafrat g

RIS USH & SURIT ST B & b uR=ee & uom &y
! Sifom Ofeh o 39 91a @1 == 3 TS ® o ormd a1 agdl
(Jewish) URAR THA VAT URAR o, ST <lkgd &I THS
¥ ol e ‘The only Jewish family’ &1 T “Single
Jewish family’ ¥ g1 3TT: fa®wed (b) “Single Jewish family’

T SR B

14. Which is the favourite dish in a Parsi household?
(a) Korma (b) Cakes and Pastries
(c) Hot halwa (d) Dhansak

Ans. (d)

RIS Yo & SURTA S Il © b oIafer & UM s §
39 qF B = B TS § F AT F gReH T H
FYHE WIS (Favourite dish) ®IRAT (Korma), TRRRN
BT g% (Dhansak), SHTSAT BT FUTH (Cakes) T4 e
(Pastries), R7&Rg (Sikhs) BT TRHA gatdT (Hot halwa), 3T vet-
ARA™T B (Anglo-Indians) &1 W€ & AN B Heolc
(Cutlet) Bl 3d: TR (Parsi) IRAR &I AqAT HIoH

'§7RT%’ (Dhansak) 3l

15. “Spin a decent Yarn’ means :
(a) Serveagoodmeal (b) State facts
(c) Tell an interesting stories (d) Weave cloth material

Ans. (¢)

JETe g8d % SR A Bl ® % $AH Ugh Phrase
‘spin decent yarn’ T Icqd g tell an interesting story, to
tell a tale; tell a story, especially a long drawn-out or totally
fanciful one; tell a story that is not true, often an interesting

or imaginative one. 3id: fd@®ed (c) ‘Tell an interesting sto-

ries’ gl SN %I

16. 59 vsg o qrory =t g7
(a) d9md1

(c) B
R (d)

(b) #THI
(d) =ran

17. f=faRad & @ o991 Meegdae T\ & S1Exvl
37
(a) T 3T oM R ol
(b) TE frde TRIFHH! a1 g 2 (Pien)
(c) T& DH B2 S W 3= I ol Bredl (Ag=ian)
(d) B BIS TR ? (AHiel)

TR (a)

5 |aH Tl 31 W R R @i, 9% a1 @M &
Tea ¥ b O R, 9= Fvauardd adm wed B SR
Tg, 98, A, 9, 3N, U IR I RApey (a) Freaaarms

M BT SR Bl 3 9 fAdedl # e aras A B
TR TS D AT RN §RT SIRT SR U6 | 39 U
P IR faded (b) faan g, 5t & Fegef B

18. 7 aradi # & IRvYe fharaRe areg 3
(a) M 1 7@ B Jg A AN
(b) &1 fee Tl o wxad o &) g
(c) Mfa= 3 M B A | SHTE|
(d) SWET 9 TR 99 & o)

TR (¢)

9 Bl ¥d B T BRb e §ER B BRI A b forg
IRT Fx, o 981 Wi o B gl IRoMeS fhaneti &
T Fdl B 81 IRS Hal a2 ARG Fdil RS = &
T ®Y T-uIH IR R 9 Bl B, W9 ol wrd H
g2 AfAferd i) AP BR @ IR < <@ Bl g
RIS b 99 Bl B, 19 dal W BRI F BRD [hl
T B B BRI B IROT A1 7, Adbed (¢) H fFdw
RNl fhaTR® a1 7, Fifh S a1 H Fa (Mfaw)
I8 B | PR 3T (1) B BT B B IR0 S VT B

19. "IN b P AR 3

(a) 3 + YT (b) 3 + qor
(c) 3= + ¥l (d) 3 + ayur
TR (b)

"SI BT AR (A + T R A AV R A R
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20. ‘SENORA H BT TN B

(a) &5 (b) wgefe
(c) PHIRT (d) qg_Y
I (d)

'FEO’ A YT WA Bl I8 V! acgey (I
AYDY) P S T 2

21. F=faRad & 9 e IR’ TS = @ wal T R

(a) IR (b) TR
(c) 9 (d) 9@®
TR (a)

A AR F I B AR F o= vafy B/, dR
R, 3y s

22, '3TOG’ v @I faed B

(a) TTH3 (b) 3T
(c) 3G (d) IT®G
IR (¢)

AT’ TS Bl fId ‘3M™eG’ BT Bl

26. 'Pool T AR BT BT 3 B

(a) <O AT (b) ST ARAT
(c) &R B (d) AR <
TR (a)

"Pool TR FIR BT Bl 31 T-gdrd g1

27. 'PoIEE, @, IRES!, FeaMYR, TERel’ | drell

ST dTell “STefl’ ol -9 2

(a) 9T (b) TS drel
(c) H=rof (d) sraeh
TR (d)

PoTdlg, S, IRIED!, Fodye, JFaRe d araef
e’ drel STl 21 $9d Jrarar el el &3 S-gargrere,
TaTaTe, SIMgR, SR (g8 Rw), weel sl

28. T 9 Up @ e ‘sfey B

(a) M (b) T
() Trm (d) =
ST (a)

B e shed A B M SMEeid U gl S
g a1f T, fawor, arof, wxwad, oifa, fasiell, ged

st g gl

23. ‘AN BT TH WU -

(a) TgA™ (b) =TgA
(c) aIAM™ (d) =g
TR (a)

AT B TodH wY IGAN BT Bl

29. F=feaRed # 9 'gg' 91 -1 B2
(2) Pl H1 Aredar fa RS 2
(b) T e gy fHerm?
(c) a8 3% A # APgH ol
(d) SHSI Sied 9gd TR | il
ST (¢)

24, TR W USD e A W BT S B2

(a) 3R (b) 3SR
() IR (d) 3™
R (%)

IR, SR T1 MR Weq HIRA 99T & 2l 3mwg
et 9T @1 e 31 STR WS A AT RN §IRT SIRY
TR U6 § 39 U B SR fAdey (d) G T g, <

o el Bl

25. oA A gfte A PrefRed § ¥ B TE 7

(a) TR (b) TSR
(c) TSR (d) TS
X (b)

Y& aal aren o TeRar g

faded (c) &1 919 Fg Bl A9 AFe Feyo! Bl APy (a)
G IYE AT 39 THR aNT-Tell Bl Ay faba=1 A HIED
2 3 v fwe (b) B e aEa BRI v e
3 Ao ? fded (d) 1 gg a1 BRT-SHd1 Siad 9gd
T H el
30. ‘fowgewe’ g & UOrT e g 87

(a) U A TR

(b) dre ¥ el efret sgvrd gl

(c) WTd &P B TR

(d) STEF H | g T
$TX (0)
freags’ fog &1 W gy, fAve, e, e,
HHUN, WY SANNE |19 b R & Ty fvan an B SR
TSI AId AT AN gRT SN SR U5 § 59 T Bl
IR e (d) fn g, i & Ffegel 2l
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e : fFfoRad e & sam 9 ufey gon uee g 31
¥ 35 TP P IR T P MR W & SN
ST IoR AR FR Bl 599 3= o4, IIRP 3R 3= &

YIS Bl 31hal S el W Il 8 Fehdl 8, Fifh Sigf
I I B, 98! aRh B § R el 9 &R Wik i €
B ¥, T8 s o BT 1 iReg e a8 o ey
BT Y AT &l S A U Bl S0 I 2| eI b A1k
M SFeaeRpE A § SR g uRem g g B
AR A VA1 T B B O B W gaN 7, TR I8
T8l I fob a1 @ T B S WIS a%g Bl MU Ww B,
=R @Iot Ve B 31T 3 § Hedhl Brdl g, B4l 59
gita &1 g i 319 Wy 39 fawdi § & gl 519 96
JTHAEPR 1 BN 6 O AT 1 AT a1 270 3iR
A= B Wil SR I 39 @l H Ahedl, AR dl

TR F TSAIURIG Ig o1 BT & b < & @il 99
TP SN Vgl &, ST O JTATIEITDR Ui = gl STl

34, e &1 R ST R
(2) IS B GOuRI-AEA & ARG I
(b) 7= B ¥RE T T
(c) IS B 3= WS HRA
(d) I B g B ARG I
SR (a)

e & oo Uik W U7 Seod 7 6 A9 @ g
He F AT T Rl B 2w B

35. SUYH eI BT T D B

(a) 3T & Y8R (b) F& &I &
(c) T3 @1 Sty (d) oIiF @1 @t
IR (¢)

I, o1 _H FHa ey | Refd 98 A7 &1 gowe,
IHG S H IA eI § AR AP 39 GHuR-AREA &
AR g & e B SRR R

31. ST & W@HY HAT § 2
(a) ATHT IR AR IR B
(b) T H e WIRF & B
CEGIESER
(d) 3T §:@-GE FT AIHT Bl B
TN (a)

T H UUH URP H Sooid & T 17T 3oR 3R 3R B

32, 3NCHT 31U Pl 3TeUS F1 HSIT B 7
(a) ST BT S T €Nl B
(b) AT T TR Bl Y AT 2

(¢) ®H-H ea S B
(d) ST H A B T

X (b)

T h FeT YN B I Sooid ¢ b 31T 319 1 37eud
TSI B, i AT U ¥awy Bl A T Bl

33. 3T @ Gl H9 db SR g § 7
(a) 9 9T BN T5
(b) gouef 1 wiftd B9 96
(¢) & =Ry witd 89 9%
(d) STHARIER U &+ dH
TTX (d)

SUh e & Fe WiE R a1 st R

36. ffoRad |1 wemi-eifaE (A) R d& (R) @
9fgy qerm = fAU T et o1 ST Fd gY el S
CUSIE
AP (A) @ Udud - Rl | e
siqdafches Aferal dem drere & = vad g
Td (R) : T89S g1 a1iRa Jafches goa foedt Refa &
IR S9F 9 B IMHR ST B 3
Pc
(@) (A) @1 (R) <F W&l § 3R (R), (A) B W

a3
(b) (A) T (R) IHT W&l E, WG (R), (A) & T
IR T B
(c) (A) W& 8, W (R) T gl
(d) (A) 7T 8, WY (R) W& 2
$TR (a)

Tdgd gR1 aiRd Jea el Refa & ufd Sa@d 4y a1
JMMPHR TG Fcl ¢ a2 foedl T & | &g fafd=
fawedl & fIgeivo gg 59 gfeavT o1 mwifad &<d &l
A Araar & R fafr= oo 9 Wag afeal @
&b Idaahd Hee d r=ar g9 [Afdeg g o9 B
AR # IRAR # 07 A F1 9 91 T gTA H A D
YRURT UTS STl Bl 3TT: gt dufrat 7 o ol ufgar &
FRIAROT (Delegation) ¥ &H T SIICT B

C))



37. = gRAAl WR fdaR I
A. PB TR DN TRR B
B. % &R Il UeR T g
ffaRad § & B9 frspd adhd: Med wwar 7
(a) A T T B 3 Bl Aohall Bl
(b) A 3T TAT B WA BT Wbl =
(c) A T B T HUF M & Al Bl
(d) A T B TF1 BUF A & I 3
TTX (d)

FE BN DI TRR Bl
m{é Frh TR
- - DB ER DA

TR Tl 2
ST I W W B 6 B TR DI TRR T qq
PB TR DN TRR & 8l I faFed (d) 9 B

38. U fJemer # uig srams o
A 77 B RS &R it ugnt 2
C @211 B 3l 3R e gerd Al
D T A TR wd R vew A

E dor B sfagNy T4 ha uga 2l
fefeRad o & B sreaTe Ae ifte W § favy
TR 17
(@) A (b) B
(¢ C (d) D
IR (b)
Feaa/fama | B | eion | et | 1P | i | e
A N N N
B N N N N N
C N N
D N N
E N N
e o faerner § segve B’ WY it fava srerig
5 fawg (R, oi¥sh, e, sfogm wd %a) ggran ol

39. A,B,C,D,E T F & A9 & IR 3R 93 & E qoI
FHIT AR, D P AMEH E Ja1 8, 921 C,E &
T B Al W & 981 ®1 B & A B 9071 § 2
(a) D (b) C

d) E

W § f&% ‘B’ & WA F 931 B
40. HUF A Ja1 B U4 Frspd 1 92 11 R AR #ifSrg qen
ITd T AT Fel & IFAR SO AT
A. PY GIRS HgRuel B 2
B. W GuR® aneeiar B
ﬁﬁﬁé:
I PB IeeErd] Hgeuell B1d 2
I |+ FHgeell gurR® B 2
@<
(a) Paa 1 Frepy fdperar gl
(b) wael Il fFrspd Mot B
(c) 13 I & Frepy e gl
(d) T 1R T8 1 sy e gl

TR (a)

S IGNCIE]

RSCINED

HERIA

IUGH o A W § 5 35 e, wevdell €1 59
TR Ty [ 9§, 99fs ey 1 o § it |
FHgvull GURS B ) A © A1 Tal Wl 39 UhR ey
I 3T BT 3Tel: haot fsmd 1 e gl

(6)



41. U9 A T B TT Awpy L IL 11 @20 IV R faR
PIfSTg Terr st & A fT Hel | U1 IR g
fAepd -
A. 3B fIgH srams B B
B. 9+ aramas ARy T
ey -
L w4 fage Ao g
. Fo A g 2l
11l. B AR A 2
Iv. a1 ereamuss fagm gl

(a) Paat 1 Frepy fdperar gl
(b) Haer I 9T 11 Frspd Fdverar gl

(c) Paa I 9 11 sy FMpera B
(d) LILII 9o IV |+ fepd e B

IR (¢)
) -
NI
fag™

JITT D

fagm

RIREIN -
e 1 oo Ak, fagr € don 3o AfRe, srame
Al B 31 baal =R 11 vd 11 97 8 SR UeY Ald
AT IMANT §RT ORI SR U6 H 39 "ed & Ffia
(Deleted) ®= & T Bl
42. T HAT A T B QY U T AR I q18 ey [ qen
11 | F=01 &1 Fal A Y, 9ol B 91 9 | A 7
Aperar ¥/M@ded 8 sy & i Ry 7 el | w=
ERNEC(RIME
P :
A. T s B
B. AfAar @ R

= .

L 9 aIsfeal aeds B

I P TSP YD 7 2

Pc

(a) Pad 1 fspy Mepera B

(b) badt 11 Fpy Fraerar

(c) 1< 11 g1 fsd fdperd &l

(d) FA1IR & 1 Fremd Feperan =
SR (d)

T asH
SIEGI
- (
3MPYH IEZED

ey U Pom W UE W g fhar o1 Hepar ® B 9
il sredes § A1 g Al ofed sevd g B o
ey v ol | s 9 Frepd TE Frepren S A 2

43. R 9 79w worRfia & 9@ g, @ Freefofea 9 @
B ey e et ST Adar 87
(a) 99 FRorfie A B
(b) TB ROl I T
(c) B WIS R &
(d) IO TS IFRVRMA Tl

TR (b)
: iﬂ’@ﬁﬁ‘[ 2

QU U T @ W B o 9 798 Ao § 1 srita
o % fAR<h o uol SR ug-uel, B, HBS d
=g STy 3nfe A TRl 81 59 YR g9 59 fehd
TH Tgd A ¢ 6 8 Aol 79 B 3ra: fadey (b)
REIRN
44. 'wI e BT PT §' SETERV -

(a) TABING TR &
(b) e aRwm &
(c) IMHRAD TR B
(d) S5 @ DI Tl

TR (a)

7 gfte b1 gHe R’ JcibiRS URHMN BT SeTexv gl

)



45. Wl B T4, St JAT IR § fAUrS’ T SeTeNv
B
(a) Nd A9 @1
(b) i AvTo= @
(c) T@HMRI Ao &1
(d) FHR (9o @
ST (a)

el b1 a1, ST de IRl ¥ fure Gifde fav
I SETERT B

A Ao — 519 fl avg & Trpfae arn &1 Ao
BT 2, A 39 YR & AU o Aifdes furs= oed 2l
SRI-gaTs e & ufey, Wi, Rasfaai, 9 &1 o, Sis,

Ty S
46. WHARA UR=pd ST Bl

TH. I i R

3IIYd TH. & IRpa @R R

g+ frfoRed adheiy -

(a) WTE (b) T

(c) for (d) SH | A PIg Tl
IR (¢)

= g 9 B, it wEfe & R W AR ey
i gam R

faN

47. frfaRed =rgare @ Jgar a1 SfdEdr & IR
P, AT 3799 2, A STH AT Ibay FArsy-
|l 3T vad B
|l 29d A gfgmm Bl
A A T AR ST B
dbaly :

(a) 319 M US QY

(b) 319 I U QY

(c) Ffafdd (srama) A g ]
(d) =TT =

X (d)

SUh <ETe § ageel |19 gl Igeal &Y 9 B g,
T4 RREEd ¥ 9 9 e ug B B

48. 'H9 &1 YT, fA=Ror 9o el ¥ fAYS Te Sarevvl
4
(a) Wfd A9 @1
(b) i AvTo™ @1

(c) T@HmRI Ao &1
(d) FHR (9o @
IR (¢)

"B BT A1gAT1, faaRor 9o el | Yo daedEri
RS BT SSERT B

49. faeyol ol o wRa SIf¥dan IgHa SuRIfTdT
et fadhed o1 99+ o TR fawan Sirm & 2 e orgeH
@1 7 A AT Y gel b MR W IR
1. Sucaar [eiRa w=
I §IRT SUTGAT BT AR FERO/agIeH $=1l

2
3. fawedl @1 FHrEIel &1 i Bl
4

. aRomEl & 3Mde BT

Pc

(a) 1,3,2,4 (b) 1,4,3,2

(c) 3,4,1,2 (d) 1,4,2,3
TR (d)

T fadeyel ol o waa aifddad ST ST
T8 BATAR oM B TR & U 378 A1 SYArt o
T A1 ST Ahell 7l S-Sureaal efRa s, gRomi

BT 3ol BT, FHESN gRT SURAdT bl YR fHeivoy

T4 fadmed] & HHEISH S i STl

50. fr=faRed # dF-0 IUFIT T e 3§ gfaen
g B ? I QU Y el &b SR W SR ST
1. 3rmiven

2. AR fa=ar

3. Ao SN

4. @ WY

5

. ARITgET (TG D)

Pc
(a) 1,2 1 4 (b) 2,3 T 4
(c) L= s (d) 1,4 7= 5

X (d)

T TR g G Y& SR drell UM & d8d UNe,
@ WM (Heuristics), WA 37fe ATETas 8l

51. o o= o foiae st @ ST ST 2
(a) 3 U= b w7 H
(b) w@d: M F wT |

@®



(c) g aifhdar & wu 4
(d) sIPEfa & wu #
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89. Self-awareness component of the personal competence
aspect of emotional intelligence does not include :
(a) Emotional awareness(b) Accurate self assessment
(c) Self-confidence (d) Self-control

Ans. (d)

Self-control does not include self-awareness component
of the personal competence aspect of emotional inteligence.

90. Some people purosely manipulate information so that
receiver will perceive it more favourably.
Which of the following sentence will be correct for above
assertion?
(a) It will enhance the effectiveness of communication.
(b) It is a barrier for effective communication.
(c) Both (a) and (b) are correct.
(d) Both (a) and (b) are incorrect.

Ans. (b)

It some people purposely manipulate information, so how
is it possible that it will enhance the effectiveness of com-
munication? It will be proved a barrier for effective commu-
nication. Therefore, the correct answer is option (b) regard-

ing the above assertion.

91. When employees voice divergent opinions of concerns
over issues, managers should manifest which of the fol-
lowing behaviour as a best option?

(a) Ignore it.
(b) Take time and wait for silence.
(c) Behave in a supportive manner and must take these
under advisement.
(d) Don’t take any cognisance.
Ans. (¢)

When employees voice divergent opinions or concerns over
issues, managers must make sure to behave in a supportive
manner and they must take these concerns under-advise-
ment. So option (c) is the correct answer.
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92. “‘Anemployement interviewer who expects a female job-
applicant to put her family ahead of her career is likely to
see that in all female applicants, regardless of whether
they actually feel that way.”

Which of the following sentence is correct for the above

assertion?

(a) It matches with our value system.

(b) We do not see reality, we interpret what we see and
call it reality.

(c) Interviewer can think in this way because he has
power.

(d) There is no problem to think in this way.

Ans. (b)

Regarding to the above-mentioned assertion, the correct
answer is option (b).
We do not see reality, we interpret what we see and call it

reality.

93. ““You must honour the person and the feelings he or she
expresses, even if you feel differently.”
Which of the sentence is correct in reference to above
statement?
(a) You cannot dismiss the other person’s feelings as
wrong, inappropriate or silly.
(b) Respond another as a unique and valuable person.
(c) You cannot treat another person as merely a member
of some other group.
(d) All of the above are correct.
Ans. (d)

In reference to the above-mentioned statement, all of the
above options are correct.

94. During a conversation with your friend, you notice that
his body seems tense and his voice is sharp. You might
say, ““you seen really stressed in your communication.”
Your sentence is an example of.

(a) Meta communication
(b) Sympathy
(c) Interference
(d) Prejudice
Ans. (a)

The word meta communication comes from the prefix meta
meaning ““about”, and the root word communication. Thus,
meta communication is communication about communi-
cation so, the correction answer is option (b).

95. Styles of conflict management are given below. Arrange
them in the correct order and select your correct answer
from the codes given below the styles.

1. Compromising 2. Avoiding
3. Competing 4. Accommodating
5. Collaborating

Codes :

(a) 3,1,5,4,2 (b) 2,3,4,1,5

(c) 3,4,2,5,1 (d) 4,3,1,2,5
Ans. (a)

The proper arrangement of the given styles of conflict man-
agement is option (a) 3, 1, 5, 4, 2.

Competing - 3
Compromising - 1
Collaborating - 5
Accommodating - 4
Avoiding - 2

96. Every type of communication is affected by its
(a) Reception (b) Transmission
(c) Non-regulation (d) Context

Ans. (d)

Communication is affected by the context in which it takes
place. This context may be physical, social, chronological
or cultural. Every communication proceeds with context.
Therefore, the correct answer is option (d).

97. In oral communication, what matters most is
(a) What you say? (b) Where you say?
(c) How you say it?  (d) When you say it?
Ans. (c)

In oral communication, it does not matter what you say,
what matters is how you say it? So, the correct answer is
option (c). ‘How you say it.?’

98. Which of the following is a paralinguistic cue?
(a) Facial expression  (b) Tonal pitch
(c) Gesture (d) Posture

Ans. (b)
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99. What are the barriers of effective communication?
(a) Moralising, being judgemental and comments of con-
solation.
(b) Dialogue, summary and self-review.
(c) Use of simple words, cool reaction and defensive
attitude.
(d) Personal statements, eye contact and simple narra-
tion.
Ans. (a)

Moralising, being judgement and comments of consolation
are the barriers to effective communication. So, the correct
answer is option (a).

100. Choice of communication partners is influenced by fac-
tor of :
(a) Proximity, utility, loneliness.
(b) Utility, secrecy, dissonance.
(c) Secrecy, dissonance, deception.
(d) Dissimilarity, dissonance, deviance.
Ans. (a)

Proximity, utility and loneliness influence the choice of com-
munication partners. Therefore, the correct answer is op-

tion (a).
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